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Osx Ba 650,000& = 12CH 7,800




2N sEXNEY
M HHSHAH (SENAD)
¢ J2dbl(sEX21) (&)
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
OXtS XAl 150,000& = 12CH 1,800
O&LHEHl | X2 =4l 9,000,000 =14 2 9,000
OfEZE &82 300& *4,0000H 1,200
202 04l 18,300 18,000 300
01 = LH o4 1l 10,500 10,200 300
OsIEXNE Y2 2 (5Y)
400,000 x1H =123 4,800
OS&X8 42 27 (&%)
300,000 x1H «x12& 3,600
OHZAIE(ZEH) 2,100,000& 2,100
02 M0 7,800 7,800 0
O=go ISR FE(SH) 650,0008 «128 7,800
203 R =&l 11,480 10,300 1,180
01 JI122E Y= 4,300 3,300 1,000
OJIZ2g Y= 358,333& 128 4,300
02 33 H 2= 2,080 1,960 120
OIS R =2 40,000& x52H 2,080
04 FN2ELRZ=TH| 5,100 5,040 60
ORAM2IYRFLH] 425,000& 123 5,100




